Spiral 13: Due 1-15-2017 NO CALCULATORS!!!!!!  
Show All Work! Start by writing the equation (i.e. 3x + 5 = 23) and then solve them. They have to have and equation and work shown for credit!!!!!!
1. Lin is tracking the progress of her plant’s growth. Today the plant is

5 cm high. The plant grows 1.5 cm per day.
a. Write a linear model that represents the height of the plant after d

days.
b. What will the height of the plant be after 20 days?
2. Mr. Thompson is on a diet. He currently weighs 260 pounds. He

loses 4 pounds per month.
a. Write a linear model that represents Mr. Thompson’s weight after

m months.
b. After how many months will Mr. Thompson reach his goal

weight of 220 pounds?
3. Paul opens a savings account with $350. He saves $150 per month.

Assume that he does not withdraw money or make any additional

deposits.
a. Write a linear model that represents the total amount of money

Paul deposits into his account after m months.
b. After how many months will Paul have more than $2,000?
4. The population of Bay Village is 35,000 today. Every year the

population of Bay Village increases by 750 people.
a. Write a linear model that represents the population of Bay

Village x years from today.
b. In approximately many years will the population of Bay Village

exceed 50,000 people?
5. Conner has $25,000 in his bank account. Every month he spends

$1,500. He does not add money to the account.
a. Write a linear model that shows how much money will be in the

account after x months.
b. How much money will Conner have in his account after 8

months?

